
Ranch Hand 09-13 F150 Crew Cab, & Raptor Running Steps
F09 Installation Instructions

General Applicability
2009 – 2013 Ford F150 Crew Cab and Raptor

Kit Contents   
Item # Quantity Description

1 1 Driver Side Step
2 1 Passenger Side Step
3 1 F09 Hardware Kit

F09 Hardware Kit Contents 
Item # Quantity Description

1 12 3/8” x 1 ½” carriage bolts
2 12 3/8” washers
3 12 3/8” nuts
4 12 5/16” clips
5 12 5/16” flat washers
6 12 5/16” hex bolts

Recommended Tools
Item # Description

1 9/16” wrench
2 ½” wrench

F09 Applicable Part Numbers 
RSF09HC5B4W
RSF09HC6B4W
RSF09HC6B6

Installation Instructions

1. Check Kit Contents for accuracy.

2. Vehicle Preparation

(a) Remove factory running boards and 
hardware (if applicable)

3. Install 5/16” clips on top bolt hole 
locations along vehicle rocker panel.

4. Lift and hold Running Step to underside 
of vehicle aligning Running Step bracket 
holes with factory holes on bottom pinch 
roll of truck.

5. Hand start 3/8” carriage bolts / nuts into 
lower bolt hole locations on each bracket.

6. Hand start 5/16” hex bolts / washers into 
top bolt hole locations on each bracket.

7. Tighten all 3/8” carriage bolts.

8. Tighten all 5/16” hex bolts. 

https://www.carid.com/ranch-hand/
https://www.carid.com/running-boards.html



